FORM 4 CHAPTER 2 QUADRATIC EQUATIONS
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1. One of the roots of the quadratic equation EaseEcttaannai 4@: ! ey = 4 b
x* + px+12 =0 is one quarter of the other : | 3R Hi L
. . ' H t 1 t 1H T
root. Find the possible value of p. giseas:: T 2 R i
e ] I Hty =4x + 4 1‘._ H ;L[r dl
- _ R LY R A e
p=8 or 8 R SRS G
s 2010001 B o 341 4 T
l i T_-:ﬁ::% ]JIT i
2. Given 5 and -5 are the roots of a i&, ﬂ e £ =k
1 Fliaksuey
. - . . V 1 E 3 | 1
quadratic equation. Write the quadratic 1B R 38 1ESE !
equation in the form of ax? +bx+c=0. I SRS R I
e L L T
i 2%+ 9x —5=10 | j e b e e R L A e |
1996 1997
3. (a) Find the values of A such that the 4. Given m+2 and n-1 are the roots of the

equation x* +5x =—4. Find the possible

equation (3-A)x* -2(A+1)x+1+1=0
values of m and n.

has equal roots. Hence, find the roots ~ [=-==-- T ey

of the equation based on the values of ' X+ 5x = —4 ;

2 obtained. X +5x+4=0
r(x+4)x+1)=0

(b) Given that the curve y =3+2x-x* has
the equation of tangent in the form

y=mx+4.

| |
i i
i i
! !
x=—4 or x=-1 i
Em.+2:—4 , n-1=-11
i i
i i
i i

(i) Calculate the values of m, : m=-6 n=20
(ii) Draw the graph y =3+2x-x%. On :m+2=-1 , n-1=-4;
the graph, draw the tangent P " ff_f’_____:____________’i__:__ff’__j

y =mx+4 based on the values of m

obtained in (b)(i).

5. The equation px® + px+3q =1+ 2x has the

roots % and q.

(@) Find the values of p and q.

(b) Hence, by using the values of p and g
in (a), form the quadratic equation
which has roots p and -2q.

'(a) px? +(,q—2)r+3qv-1“0 :
! g-m-u c’J rvufk :
|
|

i , )
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1 + pg —p - 2) 7. (a) Given the equation
"""" P D x*> —6x+7 =h(2x-3) has equal roots.
l+pg=-p+2 Find the values of h.

(b) Given oo and B are the roots of the
equation x* —2x+k =0, while 2a and
23 are the roots of the equation

; i

i i

i i

i i

i i

i i

: w0 ; -

: g =3g—-1: x*> +mx+9=0.Calculate the possible

E 29 = i : values of k and m.

! =7 ! | (a) 2-6x+7 = h(2x - 3) |

! F 1 ! ' x? —x(6 +2R) + T+ 3h = 0 !

i ply)ep =1 O i

i . | : b? —d4ac =0 |

i PR i i (6 + 2h)? ~4(T + 3h) = 0 |

i 9 | | 36 + 24h + 4h* - 28 - 12k = 0 [

i p =3 , , h*+3h +2 =0 i

) Guadate agpetn bt bave 1, PR P =0

i rot p and —2q i _ i : (b) a+ =2 |

i x! —(p—-2gkx - 2pg = 0 | | ap = k ) ) |

| .7&—[1-2(%’}} x -2 (1) {é} = U| | 2((:1.:_.&? ; _:: |

! Z-0-1=0 ! 2X2 = -m !

| -1=0! ' mo= '

_______________________________ - | |

1999 i 2a X 2,3 =9 |

_ | daff = 9 |

6. One of the roots of the equation | 4k = 9 |
2x? +6x =2k —1 is two times the other | p -9 :
root, where k is a constant. Find the roots e A

and the value of k. 2000
. 22 + 6x — 2k + 1 =0
Lo, 200 are roofx

Sum a{ rao{sﬁ

8. The quadratic equation 2x* + px+q =0
has the roots -4 and 2. Find
(a) the values of p and q.
(b) the range of the values of k so that

i
i
i i
i i
E da = -5 = -3 : 2x? + px+q =k has no real roots.
o e=-1 i T A
o rookk are - | anel - 2 i i (@) Sum of roots ,a + f = - i
e o CBeD | e o p
i i i i
ey o, | o]
i 2 3 | | Product of roots , aff = % ,
| Fe e | g
SN ; , 6@ =1
| q = —36 i
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i(b) 20+ px+q—-k =0
i b*—4ac <0

! p’-42)(g-k) < 0
i 62-8(-36-%) < 0
i 36+288+8k < 0
' 8k
i
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